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Some shepherds are grazing their sheep. If the total number of legs is 230 and }

that of heads is 60 . What is the total number of sheep?
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9  Find the remainder in following divisions-
68% + 67
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A contractor contracted to finish a wok ays. He employed _12 men to
work. But 1/3" of work was done @ays. How many additional men '
would he employ that remaining work be finish in duration? 1
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Twopipes,PandQcanﬂllacisternlnlz utes respectively. Both ’
} are opened together, but after 3 minutes, P is turned off. In how many more {
|

1] teswi]lQﬂ]lthecistern? :
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Shri X goes to his office by scooter at a speed of 30 kmph and reaches 6@

minutes earlier. If he goes at a speed of 24 kmph, he reaches S
late. The distance to his office is @ y
st X 30 fareft wifer w2 &Y fer & whet g oo Frater A ST
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6 A train covers 50% of the journey at 30 kmph, 25% of the journey at 25kmph
and the remaining at 20 kmph. The average speed ( in Kmph) of the train

during the entire journey is =1l
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‘ (s The average of fom)cﬁmecltivumbel' %

number is
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| 8 The difference of interior and exterior . angles of a regular polygon is 60°.
find the number of the sides of the polygon.
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| O If Sis the circumcentre of AABC and the value of ZBAC is 40°, then
measure of Z BSC is:
gfe S, ABC HTURHZ & SRABAC HTHT 40’ &, ¥ L BSCHTHITZ
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loln A ABC, AD hthemedlmand@(lnﬂc HABAD-M‘ »then measure of
ZACB s

s ABC, Rww AD uftast ¥ 3R AD=% tnctamzmm-s
Z ACB TTa®t

/Kuo A

aba""
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(2) 45°
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| 11 A chord of length 8 cm is at a distance 3 cm from the centre of the circle.

The length of the radius of the radius of the circle is :
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mr 12 What is the area of an equilateral triangle having altitude equal to 2 V3
cm?
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% 13 Sides of a parallelogram are in the ratio 5 : 4 Its area is 1000sq

units. Altitude on the greater side is 20 units. Altitude on the

smaller side is
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(1) 30 units ||

I ) 25 units ||
(3) 10 units
(4) 15 units
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' 15 The value of tan 1°. tan 2°. tan3°
imehrs | - . tand’........ tan 87° . tan88°. tan89’is

@ 1/V3

2)V3
3)1
(4) undefined




™ 16 If sec O + tan 0 = /3, then the positive value of sin O is
A A &N 2




17If(x - %) = 4, then x’% is







Find the value of [11. |11.,/11.4/11.v11




, . 20 Corresponding altitudes of two similar triangles are S cm and 7 cm. Find the
ratio of their areas.

o awew Ber Rt 99T 5 cm 3R 7 cm ¥ Gowet 3 st W ?

(1)V5:V7
(2)5:7
3)10: 14




i 21 The difference between C. I ( compound Interest ) and

S.I ( simple Interest) on a sum of Rs 4000 for 2 years
at 5% p.a payable yearly is




1 22 A reduction of 20% in the price of sugar enables me to purchase me
to purchase Skg more for Rs 600. Find the price of sugar per kg

before reduction of price.
St Y T & 20% hr FHE F 600 TUA W 5 fhent siR @l *

e e groma #1 drwa ¥ wwt & e wf fee o @ Ie
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(1) 24 Rs
(2) 30 Rs
(3) 32 Rs
(4) 36 Rs




5 23 A sells a bicycle to B at a profit of 20%. B sells it to C at a profit of
25%. It C pays Rs 225/- for it, the cost price of the bicycle for A is :
A20% FATH I B & U AEfhet aTar 2. B3R 25% FATW I C
I AT 8. 38® Y. C 225/- 5T 1 YA AT 8, A & g
Az & arTa e €

(1) 110 Rs
(2) 125Rs
(3) 120RS
(4) 150 RS
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